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Chapter 11, p. 263 
The coding guideline text on this page should read: 
“B3.6b Coronary artery bypass procedures are coded differently than other bypass procedures as described in the 
previous guideline. Rather than identifying the body part bypassed from, the body part identifies the number of 
coronary arteries bypassed to, and the qualifier specifies the vessel bypassed from. 
Example: Aortocoronary artery bypass of the left anterior descending coronary artery and the obtuse marginal coronary 
artery is classified in the body part axis of classification as two coronary arteries, and the qualifier specifies the aorta as 
the body part bypassed from.” 

Chapter 14, p. 338 
The second bullet in the list should read “Partial Mastectomy—More extensive than lumpectomy but not removal of the 
entire breast.” 
 
Answer Key, p. 669  
Which Root Operation is It?  
1. Root Operation: Repair  
ICD-10-PCS code: 0RQK4ZZ 
Section  Body 

System  
Root 
Operation  

Body Part  Approach  Device  Qualifier  

Medical 
and 
Surgical  

Upper  
Joints  

Repair  Shoulder 
Joint  

Percutaneo
us  
Endoscopic  

No Device  No 
Qualifier  

0  R  Q  K  4  Z  Z 
 

Answer Key, p. 687 
Code Building Exercises 

1.3. M, Perineum muscle 

1.4. 0DTP0ZZ – Resection, rectum, open approach 

0KQM0ZZ – Repair, perineum muscle, open approach 

Answer Key, p. 705 
Case Study Coding, #9 
Code 02713EZ should be given instead of 02713DZ.The rationale for the correct code should state “The approach is 3, 
Percutaneous, and the device value is E, Intraluminal device, two for the bare metal stents.” 


